6R1TS=TE

EAFRTR

Efil \—Fbﬁﬂ

Z 1

8 : 00

LT (15 10~15:50)

3| B |3EHRBRTK B | A&<5]| 2 3 4 O 5 / X 14:25
%17 (3
4| FHRAT (3 ) B | 1 2 3 4 ° 5 6 | O 1550
LT (15:1o~15:50) 3
E2RT (3 o
5 7}<T%MT( ) B |1 2 3 4| 2 |5 6| 0|15
LT (15:10~15:50) A
ST (345) B} o
6 | & B | 1 2 3 4 5 6 |F#x| 15:50
uyp+ﬂ (14) LT (15:10~15:50) . 18 x
3 EREH ) o
7| % B | 1 2 3 4| .. 5 6 | O | 1550

10 | B |REE#S| B Y TREIER . K6 2 3 4 O 5 / X 5|EY
LT (15:10~15:50)

1| % B= | 1 2 3 4| o |5 6| 0] 1550
mkkE BEXAELSE/OLE ”
LT (15:10~15:50) = .

12| Ky reny o mmsemmeamnes ek B | 1 2 3 4 O |5 610|155
9:008 1832 (2-3,4,3 F) O®%FEHRS _

13 | & - B= | 1 2 3 4| O | 5| #& |#ex| 1550
LT (15:10~15:50) iR SciBashas ”
YHRERT

14| & B | 1 2 3 4| O |5 6| O] 1520

HEREH EFRE

LT (15:10~15:50)

CEERHRBER LRFRZFRE

18 | %k = 15:

8| X l10.00~12: 00PTAHFES (3 &&ELE) B | 1234 © 5 6| O] 1590
FZ MBR LT (15:10~15:50)

19 | 7k |10:30 PTARICHE A (RiEH) B% | 1 2 3 | 4 O 5 6 | x | 1550
15:00 £H#H(HEE)

20 | A& [LT (15:10~15:50) B | 1 2 3 | 4 O 5 6 | x | 1550
LT (15:10~15:50) % L~V > $HHES

21| % ( ) = B | 1 2 3 4 O 5 6 | x | 1550

HRT R b QUIEE E3E

25| X AFt 1 2 3 4 O 5 6 x| 15:50
26 | K [HART R b 55 T T / / X / / x| 10:25
27 | KR |BBR7R b HXZ—N/1TZ 55! T T T / X / / x| 11:30
28| ® syl 7 T T 1 O X

7 BITEFE
(FETTDTEEDHEL ZEVET)

» 3 EI(7J<)

“Ch—r LB, PEG). 6800, 1
18A(CK) 1ZHHEKRT 19H(H) KRER

TEG @ 1IIA%§




